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Vb1=480 V
Vb2=120 V
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Sb1=20Kva Sb2=20Kva Tb1=20000/480= 41.67 A
Vb1=480 v Vb2=120 V 1b2=20000/120=166.6TA
O S sz:\iz b2 Zb1=Vb1/Ibl= 480/41.67= 11.52 ohm
Ib1=Vb1/Zb1=SbLVbL | Thaevba/zhaesharhy  Z02~VD2/Ib2=120/166.67 = 0.72 ohm
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096Pu  138.9 Pu Vs=460/480=0.96Pu

Rload=100/Zb2=100/0.72=138.9 Pu

[=0.96/138.9 =0.007 Pu
[1=Ipu.Ibl=0.007*41.67 11=0.291A

2=Ipu . Ib2=0.007* 166.67 12 =1.17A
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I, = (0.02114pu<-0.3°)(1,883A) =[39.8A<-0.3°
[, = (0.02114pu<-0.3°)(376.5A) =|7.96A<-0.3°

l = (0.02114pu<-0.3°)(1,883A) ={39.8A<-0.3°
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